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Upqljunpdwé qnypp hwplunhpp blyppnbught wénippny hpwgtibiny dwupb

19.08.2022p. p. Yynudph

Cwplwnhp Ywuwwpndt wwwhnynn dwnwjnipjwlt Thpwyh dwpquiht pwdup
wywg hwpluwnhp Ywwwpnn, wpnwpwnwoniejwt  dwjnp’ Lhthp  MbGupnujwlu
niuntduwuhpbinyg 18.08.2022p. Jtipuyudwsd phy 08501762 lJwuwwpnnwlwl Jwpnyph
uynipbipp |
mMUr268hr

Chpwyh dwpgh wnwohtu wwnywuh punhwunyy hpwywunipjwl nwnwpwh Ynndhg 13.12.2021p.
wpdwd phy &H/1086/02/21 Ywwwpnnulwl pbpph hwdwdwu wbwp £ Swphy dwpnwuplyhp
Uwpwhlywuhg hognun <<USP-dwjwunwl pwul>> $P pulbpnipjwlu pnuwquudt) 327,539.70 /tpkip
hwpjnip puwyyne hwquwnp hhtug hwpynip Gpbuntuhup npwd, jJnpwlwuntu (nuiw/ £& npwd’ nphg Yunlh
gnuiwp 302,581.70 /tptip hwpynip Gpyne hwquip hhug hwpynip nyeuntudby npwd, jnpwbwuntt nuiw/
£ npwd, Jupyh nhdwg hwagwpyywsd nnynu 11,825 /inwutidkly hwqun nie hwpjnip puwuhpug/ <<
npwd, dwdltwnwlug nnynuh nhdwg hwadwpyywsd innyd 705.80 /jne hwpjnip hhug npwd, niypuntu |nwdw/
<< npud, dwdybnwug gnuwph nhdwg hwoyuplywsd wnnyd 3,627.20 /Gpbp hwqun Jbg hwpnip
puwynp npwd, puwt nuw/ << npwd, Jupybph vywuwpldwu hwhyubp 8,800 /nip hwqwn nie
hwpynip/ <€ npwd,2.1. Jupyh ng dwdybnwug duwgnpnh jwwndwdp wywjdwuwgph 1.1 Yawnnyg
bwhuwwnbuwsd 10 /viwup/ % nnynuwnpnyph hwodwpyp wpniiwlyby 20.05.2021p-hg dhugh npw
thwuwnwgh dwpnup, pwjg ns wyb) pwu 09.09.2022p.-p, dwdytnwug yupyh duwgnpnh b hwadwnplwd
nnynutbiph bywwndwdp nnydh hwaygwpyp 20.05.2021p.-hg dhugk npw hwunwgh dwpnudp gwpniuwlbg
opwlwu 0.09 /qpn wdpnng qpn hup/ winynuny jnipwpwugnip nwgpwd opyw hwdwp, wduwlwu
uywuwnydwu Jdwpubiph hwoqupyp swpniuwyty 20.05.2021p-hg dhtusk Juplh thwuwnwgh dwpnudp,
hhdp punnubind JuwpYuwjht wwydwuwgph 1.1, 5.3, 1.4, Ytwnbph wwhwuotbipp: 3. Mwuwnwufuwunn
Guphy dwpnwuplyp Uwpwhlwuhg hognin <<USP-dwjwunnwl  pwul>> PR pulbipnipjul
pnuwgqwudl) 6,973.2 npwd, huswbu bwl pnuwgqwudt) pnuwgwudynn gnudwph hhug winynup, npwtu
Yuwwnwpnnulwu gnpdnnnipjniuttiph Yuwnwpdwl dwiuu:

Jbpngpywih hpdwt Jpw b nbhwdwpdbind - «trwnwlwu whnbph hwplywnhp junwpdwl
dwuhu» << optiuph 28, 28.1, 43 hnnywdéubtpny b «Lpwwwpwlwih uwlwpynigyniuiiph dwuhu» <<
ontiuph 35.1-35.4 hnnjwadubipny.

nrnecesh

Muwpunwwwl Ywphly Ywpnwupyh Vwpunhlywupt wwnwiunn b <<4SP-Cwjwutnwl pwly>>
PPL-nud gpwyh wnwnplw hwunhuwgnn gnypp.

h/h | (nnh wujwundp | guwhwwndw dEYuwplwht gnyph pwuwlyp
ufwpughpp qhup ghtp
1. | Nulyw dwipwtih, hwpgp' 117000 npwd 87750 npwd 1 hup

583, pupp' 9.0 gpwd
2. | Nulyw pnpw, hwunpgp' 583, 130000 npwd 97500 npwd 1 hwp
pupp' 10.0 gnud




ubpyuywgynd £ hwplwnhp  ElEyupnuwght wénipnh, fehupnuwght hwdwywpgh  Yhpwndwdp’
hwplywnhp Yuinwpdwu Swnwniejwt wénipnh biEYywnpnuwhu Ywph' harkadir.ajurd.am dhongny:
Lwplyw blyppnbughts wénipnh u ' _10.10. 2022p.

Npnadwl wuwndEGp nenwipl&p YnndbphG:
Jwpljwnpp yuwnwpnnh Juywgpws npnznedp Gwpnn £ pnnnpwplyby Jepwnwunipywl wpgny npnznidG nidh dbp
dnGbint opjwlhg hbwn® Ephwdww dwdlbnnd, Jwd Juwpswiwl npwowpwl' opkipny uwhdwlyjwo
dwdljwnGlpnid:
Ywnwlwl wlnbph hwplwnpp Juwnwpdwld JwuplG 33 opblph 28 hnnywdoh 5-pn dwup hwdwdwild hwplwnpn
Ywwinwpnnh npndwl pnnnpwplynudp sh Ywubglnid Junnwpnnwlws qnpénnnipniGlbpp, pwgwnnipjudp opbGpny
uwhdwbfwo nbuypkpp:

TuUtvNiEnih @3Nk L: 3nipuwpwugnip (ninh hwpwnpp EGYwnpnuwht wénipnh wywpunh
hwoywplwiht dwd £ hwdwpynd Yuypnud indyu ininh dbpwpbipjwp dwunigndp hpwwwpwlbine 10-pn
opqwl hweonpnnn woluwwnmwupwihtu opdw hwlwwwwnwufuwu dwdp:

Snipwpwugnip syuwjwgwd hwplwnhp wénipnhg hbwn' Gppnpn wpluwwnwupwiht opp, Yuypnid
qtitninynud § YpYuwyh hwplhwnpp EYunpnuwihu wénipnp npdwd (ninh dwuht dwunwgnudp:

Grb wénipnp sh Ywjwgb| qunpn sihubnt fwd (ninh dEYuwpluht quh hwyGinud swwnwpydbint
hhdpbpny, www hwonpn hwplwnhp wénipn Yuwgdwybpwbiingg Juéwnynn (ninh dEluwpluwihu ghul
hotigynud b bwfunpn wénipnh hwdwp uwhdwujwsd dEYuwpluwiht quh wwup wnlnuh swihny:
Grb wanipnp sh Ywjwgty qgunpnh Ynndhg (ninh qudwu ghtup uwhdwUyws dwdlybunnud syawpydbnt ud
wnnwwlwnph wwydwlwghpp sunnpugpbint hhdpbipny, www [nnh deluwpluwiht quh hetignud wntinh
sh niubunw: Swuthpugbpnpn hwplwnhp wénipnp sywjwuwne nbwpnud hwenpn wanipnutipnud |nnh
deyuwplwihu ghup sh hetigynd: Swuthhugtipnpn hwplwnhp wénipnp  sfuwjwlwnt nbupnud
hwpywnhp wénipnh £ ubiplujwgynud bwl ywpunwwwuht ywnlwunn' optupny uwhdwuyjwsd unyu
htippnul Ubipwnywd wy| gnyp, hul unyl htpenw bipwndwsd gnypbiph wupwywpwpniejwu nbwpnud’
hwenpn htipenud Ubipwndwd wy| gnyp:

«puwywpwlwiht uwlwpyniyeniuiubph dwupu» << opkuph 35.4 hnnwséh 4-pn, 5-pn U 6-pn
dwubiph hwdwdwju  Gpypnpn L jnipupwtginip hbippwlwu wénipnhg htwn, |nunp squtwnybint
nbwpnw wwhwugwwnbpp wénipnh wlwpwnhg hbnn Gpynt wouwwnwupwihu opyw plpwgpnid
hpwyniup niuh wwhwugh nhdwg wju punniubiine wyn wénipnh dehuwpluih guny: Mwhwugwwnbipp
wwhwuoh nhdwg |nnu hpktu hwudubnt Yyepwpbpjw) gpwynp ywhwugp Jupnn £ Ubplujwglt
Swnwjnueyntu Jhusl sywywgwd wénipnhg htiwin Gpypnpn wiuwwnwupwiht opyw wywpunp: Snypp
/iInnnp/  wwhwugwwhpngp hwududnd £ Jbipghuhu Ynndhg Ywwnwpnnwlwl gnpdnnnipjniulitinh
Yuwnwpdwu dwiuubipp Jéwpbnig hbwn, hul gnyph /innp/ hwuddwt uwwlygniejwdp hwpltip
Jéwpbnt  wwpnwlwungeiniu wnwowuwne  nbwpnd' twl npw uuwpnudp  hwdwunnn
thwuwnwpnetipp ubtipywjwgubinig hbwnn:
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